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ENGLISH VERSION
Section-A

Attempt any two questions from following questions :

1 (a)

(b)

(b)

(b)

4 (a)

Discuss the different types of cost involved in inventory control. State the EOQ formula 20
under without shortages and demand rate is constsnt.

Average monthly demand for a particular item is 8000 units Inventory carrying cost per

unit per year is 12% of the cost of the units and ordering cost is Rs. 200 per order. The

price quoted by the supplier is Rs. 500 per unit. However the supplier is willing to give
discount of 10% for the order of 20,000 units or more. Is it worth while to avil of
discount offer?

Explain the queuing problem. Explain (M/M/1 : FIFO/N) model. 20

If the arrival rate is 8 per hour and service rale is 12 per hour then calculate :

(1)  The probability that the system is idie.

(i)  Average number of customer in the queue, on the assumption that capacity of the
system is limited to 4 customers only.

Explain the sequence problem. Explain the procedure for determining an optimum sequence 20
for processing n items on three machines

From the following table. Find the optimal sequence of jobs to be processed and the
minimum elapsed time for 3 machines.

Job 1 2 3 4 5 6 7 8

Machine-1 32 34 36 33 34 31 38 37

Machine-2 27 29 27 26 29 25 26 24

Machine-3 34 40 37 39 36 31 37 38

Explain Transportation problem and write steps of least cost method and Vogels 20
Approximation method to solve it.
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(b) Obtain optimum solution of the following transportation problem for maximization.
Destination
Origins 1 2 3 4 | Supply
1 5 8 7 3 100
2 4 2 3 9 200
3 3 6 5 3 300
4 1 5 4 6 400
Demand 150 150 250 250
Section-B (Compulsory)
5 Answer the following questions (any five): 10
8 Explain the meaning of inventory control.
2) State the formula of EOQ for the inventory model having finite production and no shortages.
3) Write the assumptions of EOQ Model.
4) In context of queuing theory. Explain utilization factor.
%) Write the formula of probability of one customers in the system for (M/M/1 : FIFO/N)
queue model.
(6) Name the method which gives the best initial solution of a transportation problem.
€)) What is unbalanced Transportation problem.
(8) Give two illustration of sequencing problem.
9) A particular item has demand of 4000 units per year. The holding cost per unit is Rs. 150

(10)

and the ordering cost is Rs. 550 per order. Determine the economic lot size (EOQ).
What is degeneracy in Transportation problem?
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